Right Triangles — Pythagorean Theorem

Notes Section 8.2

Pythagorean Theorem: In a right triangle, the sum of the
squares of the measures of the legs is equals the square of
the measure of the hypotenuse.
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x and y are always the legs and r is always the hypotenuse.
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Pythagorean Triple: Three whole numbers that satisfy the
Pythagorean Theorem. The smallest Pythagorean Triple is

the 3 -4 -5 triangle. | € —€-\1
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Use the Pythagorean Theorem to find the missing measure.
Give exact answers and rounded answers (if needed) to one

decimal place.

#1)
10 N<8&
Sy 5) )(J?V\Q
) gt
R 6 Y ’P\‘\/\Ag
)]
2 2
Rty = <t
#2 1
’ X (- L8y e <
' o + do=<t
|| S2< <t
Y 4 R
FJds2 =¥
Y13 - <
Qﬁ‘g =<
R*C
#3) R 11 y xﬂ_&‘(q:‘(l
m’J Gyt
' (2l +* (o =t
X

1%l‘-"1

351/31 o<
ﬁ:(
W m

Name

The converse to the Pythagorean Theorem: If the sum of the
squares of the measures of two sides of a triangle equals the
square of the measure of the longest side, then the triangle is
a right triangle.
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Determine if the following measures can form a right triangle.
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Right Triangles — Pythagorean Theorem

Notes Section 8.2 Name

#8) In a right triangle, the measures of the legs are 8 and x +
7, and the measure of the hypotenuse is x + 10. Find the
value of x.
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#9) The diagonals of a rhombus measure 30 cm and 16 cm.
Use the properties of a rhombus and the Pythagorean
Theorem to find the perimeter of the rhombus.
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